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Aufgabe 1.
a) (3) b) (5) ¢) (5) d)
£ (%) 8) (7) h) (7°) i) (
Aufgabe 2. a)
a) &= (1) b) 7= ()
d) 7= (%) ¢) 7= (3)

Aufgabe 3. a)

w-() =-() m-(}) =-()
me(3) e (3) pe() e

Aufgabe 3. b)

i) = AC i) =0
v)=T vi) = CA+ AD = AD vii) = BA
Aufgabe 4.

a) A(=8l4) B(0[2) M(-43) b) C(73) D(=7| = 1) M(0[1)

d) G(510) H(1] —=2) M(3|—1)  e) I(=5[5) J(1[1) M(-2[3)

iii) = BD + DC = BC' iv) = AB + BD = AD

viii) = BD+ DA+ AC = BC

c) E(2/4) F(1]2) M(1,5)3)

f) K(—4] = 2) L(=2[2) M(=3|0)

Aufgabe 5.
p 2/-1) (=77 (=3[ —3) (2/4) (910) 2[-7)
Q (5/2) (=7/6) (512) (0,5[1,5) (6]8) (=4[ =7)
PG | (3) (%) () (22) (¥) (o)
-PG | () (\) (%) (232) (%) (o)

Aufgabe 6.
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A"(=2|—25) B'(1]—-2) C"(=0,5/0)

Das war gar nicht schwierigD
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